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1. Introduction
In RAN4 #110bis meeting, RRM performance requirements for NES was discussed and the WF [1] was approved. In this paper, we present our views about RRM performance requirements for NR network energy saving.

2. Discussion
Status in the WF [1]:
	[bookmark: _Hlk163639826]Issue 2-1-1: Test configurations for SSB-less
· Agreement on Test configurations for SSB-less
· Single P-TRS is configured in SSB-less SCell in the SSB-less SCell activation TCs
· Don’t configure the parameter SCell measurement cycle (measCycleSCell), SSB configuration and SMTC configuration for SSB-less SCell
· Set EPRE difference as [9 dB] + [ΔPL] in the test cases. 
· the [9] can be updated to the same number as in core requirement if any updates on the core requirements.
· Pcell has [higher or lower] EPRE than Scell.
· Further discuss whether and how [ΔPL] can be reflected in the TC.
· ΔPL is the power difference caused by BW difference and/or frequency difference between two Cells.
· Encourage concrete proposals on how ΔPL due to BW difference and PL difference can be reflected in the test.
· The TCI.State.0 could be used for the TRS of the SSB-less SCell with an additional note that the reference signal is SSB0 from spCell.



As for EPRE difference for SSB-less, it was agreed to set EPRE difference as [9 dB] + [ΔPL] in the test cases, and it was described within bracket in the endorsed draft CR [2] that ΔEPRE is equal to 20*log(f1/f2), where f1 and f2 are the frequency radio channel 1 and radio channel 2. In our views, the frequency difference is one of the main differences for AGC compensation, therefore, we support the description of ΔEPRE and the bracket of this description in the test case can be removed.
Proposal 1: Support the description that ΔEPRE is equal to 20*log(f1/f2), where f1 and f2 are the frequency radio channel 1 and radio channel 2, and the bracket of this description in the test case can be removed.

3. Conclusion
The contribution presents our views on RRM performance requirements for NES, with the following proposals:
Proposal 1: Support the description that ΔEPRE is equal to 20*log(f1/f2), where f1 and f2 are the frequency radio channel 1 and radio channel 2, and the bracket of this description in the test case can be removed.
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